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Inverse Trigonometric Functions

Multiple Choice Questions(1 Marks Questions)

cos™! (— cosz?") is equal to :
2
(a) 3 (b) 5

.1 (1) .
sin 1(5) is equal to :

(a)o (b) ¢
sin~1(0) is equal to :

(a)o (b) ¢
sin~1(1) is equal to :

(a)o (b)

If y = sin~!(x) then x belongs to the interval :

(a)(O, T[) (b)(—l, 1)
cos™! (cosz?n) is equal to :
(a) % (b) 5

= —1 = T\ .
sin sin is equal to :

(a) 5 (b) 3
If cos™! x = y then x belongs to
(a)(0,1) (b)(—=1,1)
If sin~1 x + cos_lé = g then x is
() (b
Principal value of cos~1(1) is
(a)0 ()3

Range of function sec™! s :

(@10, - {3} (b)(0, m)

If tan 12+ cot™1x = g then value of x is :

(a); (b)1

— — T .
If sec"1x + cosec™15 = 5 then value of x s :

(a)3 (b)5

cos~! [xy —V1-—x21- yz] is equal to :

(a)cos™1x + cos™!

1

Domain of function cosec™ is:

(a)-1,1] (bR - (-1,1)

y (b) cos™1x — cos™

T

()5

(c)5

T

(c)5
(©) 3

() [-1,1]
(©) 3

(©)3
(0)[-1,1]

()3

(c)3
@(-5.5) -~ 10
(c)2

(c)2

1

(c)sin"lx —sin~ly

(c)R

(d)3
(d) 3
(d)3
(d)3

(d) [0, ]
(d) 3

(d) 3
(d)[0, 1]
(d);
(d)?
(d)[0, 7]
(d)o
(d)o

(d)none of these

(d(-1,1)



4 Marks Questions

1. Prove that:
. 11 -11 _ 14
i 2tan " -+ tan" - =tan -
(i) 5T 8 7
i -11 -11 _ o -132
(ii) 2tan 5 + tan 2 tan 3
-11 -1l_rm
(iii) 2tan 3 + tan =3
. 11 .. 13 _ @
iv 2tan" " -+ sin" - =~
(iv) 2T 5 2
in12 4 sin"13 = tan-17Z
(v) sin™" + sin s = tan 36
i -112 L n-13 —gip138
(vi) cos™ + sin ;=sin"" =
.. 11 12 _1 -13
vii tan "+ tan " -=-cos " -
(vii) i 9 2 5
. _13 _112 . _156
(viii) sin~! <+ cos 1E = sin IE
. . 13 . 18 _184
(ix)  sin 1E—sm 1E=cos IE
in~12 4+ sin~1> = cos~ 116
(x) sin™" + sin 3= €0s™ =
. .1 i 1 l _ —1 253
(xi) sin™" = + sin 55 = €OS™ o
i -11 -11 _1.,-116
(xii) tan > + tan s =5C€08 <
-11 -11 _ -13
(xiii) tan 3 + tan 5 =5€08 " ¢
. 11 11 _ 1 . _1204
Xiv tan " "-+tan - =-sin" T —
(xiv) 7T 5 2 325
-11 .11 _1gp-18
(xv) tan > + tan s =5sinT

2. Solve the following equations :
(i) tan"!(x +1) +tan"(x — 1) = tan‘1% ,—V2 <x <42

(ii) tan !(x +2) + tan"1(x — 2) = tan_1% , —V5 <x <5
(i) tan!(x+3)+tan!(x—3) =tan 1. ,—V10 <x < V10

(ivy tan!(x+3)+tan"l(x-3)= tan‘1§ ,—V10 < x <10
(v) tan"l!(x +4) + tan"1(x — 4) = tan‘lé ,—V17 < x < V17

(vij tan! g +tan~?!

WlR WwWix

(viij tan~! ; +tan~?!
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